# KANSAS CORPORATION COMMISSION RIGINAL OIL & GAS CONSERVATION DIVISION

Form ACO-1
September 1999
Form Must Be Typed

KCC WICHITA

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32781	API No. 15 - 00722969 - 10 00
Name: Roberts Resources, Inc.	County: Barber
Address: 520 S. Holland - Suite 207	<u>swnwseSec33Twp31SR13</u> East
City/State/Zip: Wichita, KS 67209	1650 feet from S/ N (circle one) Line of Section
Purchaser: Oneok	2310 2210 feet from E/ W (circle one) Line of Section
Operator Contact Person: Kent Roberts	Footages Calculated from Nearest Outside Section Corner:
Phone: ( 316 ) 721-2817	(circle one) NE SE NW SW
Contractor: Name: Duke Drilling Co., Inc.	Lease Name: Suhler Well #: 2-33
License: 5929	Field Name: Brooks
Wellsite Geologist: Kent Roberts	Producing Formation: Indian Cave / Douglas
Designate Type of Completion:	Elevation: Ground: 1572 Kelly Bushing: 1585
New Well Re-Entry Workover	Total Depth: 4650 Plug Back Total Depth: 3811
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 312 Feet
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to
Well Name:	Drilling Fluid Management Plan MALT WM 3/
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 8000 ppm Fluid volume 560 bbls
Plug BackPlug Back Total Depth	Dewatering method used Haul off
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No.	Operator Name: Oil Producers
2/1/06 2/10/06 2/22/06	Lease Name: Rich #9 License No.: 8061
Spud Date or Recompletion Date  Date Reached TD Completion Date or Recompletion Date	Quarter Sec. 22 Twp. 32 S. R. 19   East  West  County: Comanche Docket No.: D-28,178
Kansas 67202, within 120 days of the spud date, recompletion, workon Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log-TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well.  All requirements of the statutes, rules and regulations promulgated to regulations.	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	
Signature: Kent Kohah	KCC Office Use ONLY
Title: President Date: 6/5/06	Letter of Confidentiality Received
Subscribed and sworn to before me this 3/ day of 17/Au	If Denied, Yes Date:
-3	Wireline Log Received
20 Dlc	Geologist Report Received RECEIVED
Notary Public: CONNED RICHARDSON CONNED RICHARDSON CONTARY PUBLIC STATE OF KANSAS	UIC Distribution JUN 0 7 2006
Date Commission Expires My Appt. Exp. L. 12.07	

JAMISINAL

perator Name: Rob	erts Resources, Inc			Lease	e Name: S	uhler	i	Well #:		
ec Twp			✓ West	Count	y: Barber					
sted, time tool oper mperature, fluid rec	now important tops a n and closed, flowing overy, and flow rate is surveyed. Attach f	and shut- s if gas to	in pressures. surface test, a	whether s liong with	hut-in pre:	ssure reache	d static level, hydro	ostatic pressur	es, bottom hole	
rill Stem Tests Take		✓ Ye	s No		[/]Lo	g Forma	ation (Top), Depth a	and Datum	Sample	
amples Sent to Geo		Ye	s 🗸 No		Name	e Cave Sand		Top 2658	Datum -1073	
	logical Survey	Ye			Heebi			3576	-1991	
ores Taken lectric Log Run		✓ Ye				Lime		3766	-2181	
(Submit Copy)					Missis			4288	-2703	
st All E. Logs Run:					1	rhook		4413	-2828	
001 DI	Miara Cani	•			Viola			4499	-2914	
JNL-CDL, DIL	_, Micro, Soni	•			Simp	son		4594	-3009	
					Arbud			NDE	NDE	
		Renor	CASING	RECORD	✓ Ne	CLIEBLE .	luction, etc.			
Purpose of String	Size Hole	Siz	e Casing	We	eight	Setting Depth	Type of Cement	# Sacks Used	Type and Percent	
Surface	12 1/4"	10 3/4"	(In O.D.)	32	. / Ft.	312	60/40 poz	275	2% gel, 3% cc	
Production			15.5#			3811 AA-2		250	10 % salt	
			***************************************							
		1	ADDITIONAL	L CEMENT	ING / SQL	EEZE RECO	RD			
Purpose: Perforate Protect Casing	Depth Top Bottom	Туре	of Cement	#Sack	s Used		Type and	Percent Additive	s	
Plug Back TD Plug Off Zone										
Shots Per Foot	PERFORAT Specify	ION RECOF	RD - Bridge Plu Each Interval Pe	igs Set/Typ erforated	e	nt Squeeze Reco faterial Used)	ord Depth			
4	3637' to 3641'									
4	2660' to 2664'					none	<del> </del>			
TUBING RECORD	Size 2 3/8"	Set At 3609		Packer none	r At	Liner Run	Yes N	lo		
Date of First, Resume 2/22/06	rd Production, SWD or	Enhr.	Producing Me	ethod	<b>√</b> Flowin	g 🔲 Pu	mping Gas I	_ift	her (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas 1,000	Mcf O	Wat	er trace	Bbls.	Gas-Oil Ratio	Gravity	
Disposition of Gas	METHOD OF	COMPLETI			L	Production I	nterval			
Vented Solo	Used on Lease		Open Hole	141.411	erf.	Dually Comp.	Commingled			



SALES OFFICE: 100 S. Main Suite #607

Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129

Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

#### Invoice

Bill to			oice Date	Order	Order Date						
	Roberts Resources, Inc.	20	2/8/06	11843	2/1/06						
		Service Description Cement									
	520 Holland, Suite 207										
	Wichita, KS 67209	Lease	Wel	Well Typ							
		Suhle		2-33	New Wel						
		AFE		Purchase	Order Terms						
					Net 30						
- 1	CustomerRep		Tre	ater							
	K. McGuire		В. Г	)rake							
<i>ID</i> .	Description	<u>UOM</u>	Quantity	<u>Unit Price</u>	<u>Price</u>						
D203	60/40 POZ (COMMON)	SK	275	\$9.82	\$2,700.50 (7						
C310	CALCIUM CHLORIDE	LBS	711	\$1.00	\$711.00 (T						
C194	CELLFLAKE	LB	67	\$3.41	\$228.47 (7						
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	70	\$4.00	\$280.00						
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	35	\$2.50	\$87.50						
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MI	IN TM	415	\$1.60	\$664.00						
E107	CEMENT SERVICE CHARGE	SK	275	\$1.50	\$412.50						
R201	CASING CEMENT PUMPER, 301-500' 1ST 4 HRS ON LOC.	EA	1	\$704.00	\$704.00						
S100	FUEL SURCHARGE		1	\$57.88	\$57.88						

Sub Total: \$5,845.85

Discount: \$1,157.91

Discount Sub Total: \$4,687.94 Barber County & State Tax Rate: 6.30% Taxes: \$183.90

(T) Taxable Item \$4,871.84 Total:

**RECEIVED** JUN 07 2006 **KCC WICHITA** 



### TREATMENT REPORT

Customer	berts i	c Tre.	Le	Lease No.							Date							
1.0000	hler		1416	2/15/1	Well # 2-33							2-1-06						
Field Order #	Statio	n /	a#	·			Casing Depth 3			312' County Barbe			ber		State Ks,			
Type Joh				J. W	1					rmation				Legal D	escription.	-3/s-13w		
	DATA			ORAT		DATA FLUID USED						TREATMENT RESUME						
Casing Size/	Tubing Si	Tubing Size Shots/Ft (m1				mt-	Acid	75 sk. 6	0/40	Puz		RATE	PRE	SS	ISIP			
Depth 313	Depth		From		To		Pre	Pad/. 25	ff3		Max		5 Min.					
Volume 30.5	Volume		From		То		Pad				Min				10 Min.	•		
Max Press	Max Pres		From		То		Frac	;			Avg				15 Min.			
Well Connection	n Annulus \	Vol.	From		То						HHP Use	d			Annulus P	ressure		
Plug Depth	Packer D	epth	From		То		Flus	1263	1		Gas Volur			<u>-</u>	Total Load			
Customer Rep	resentative	enus	y Me	bulre		Station	Mana	iger Deju	4 5a	off		Trea	iter <i>Bo</i>	bby O	rake			
Service Units	123		26	1347 -	61							_						
Driver Names	Drake	Ant	hany	Bole	\$													
Time	Casing Pressure		bing / ssure	Bbls.	Pum	ped	F	Rate						ce Log				
12:45 P.M.									On	loca	Hon	-Sa	to by	Mec	Hing			
1120		<u> </u>							Ku	<u>r [3g</u>	<u> </u>	jts. 1	103/4	40.5 *	- 13' 85/	<u> </u>		
2:55									154	a.m	Botton	-						
3:00		_						./ .	110	KL	pto 1	<u> </u>	Bit	CK (1	c. w/x	19		
3'11	100	ļ			<u>5</u>			4.0	His	OA	<u>ha d</u>	· · · ·		11				
3/13	150	_		6	<u>3</u>			10	11	x C	<u>earn t</u>	(a)	14.2	" /gat				
3'.28	150							4.0	56	rt l	)15p.							
3,35	100			ā	18				Ph	ig D	<u> </u>					<del></del>		
	<u></u>								134	inda	Hon 1	hru	Jo	<u>b</u>	,			
		_								row	ated	<u>Com</u>	est	AS PI	<del>/-</del>			
									Je	6 (2	mple	<del>4-</del>						
								<del></del>	بہا		is, Bo	//				· · · · · · · · · · · · · · · · · · ·		
									14	<u>an k</u>	3, 100	<del>5</del> 50						
		ļ						,	1				<del></del>					
						+			<u> </u>	···	<del></del>			<u> </u>				
							·						<del></del>					
							·····		<del> </del>						RECE	VED		
															JUN 0 7			
															CC WI			
															WW VVI	VI II I/7		
10244	NE Hiw	ay 6	31 • P	.O. B	3 xc	3613 <b>•</b>	Pra	tt, KS	6712	4-861	3 • (620	0) 672	2-120	1 • Fax	c (620) 6	72-5383		



**SALES OFFICE:**100 S. Main
Suite #607
Wichita KS 67202
(316) 262-3699
(316) 262-5799 FAX

**SALES & SERVICE OFFICE:** 10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

**SALES & SERVICE OFFICE:** 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

#### Invoice

Bill to			oice Date	Order	Order Date								
	Roberts Resources, Inc.	96 2	2/16/06	11262	2/11/06								
ŀ	520 Holland, Suite 207	Service Description											
	Wichita, KS 67209	Cement											
		Lease		Well									
		Suhler	•	Purchase									
		AFE		Purchase	Net 30								
	CustomerRep		Tree	ater									
	K. Roberts		M. Mo	Guire									
ID.	Description	<u>UOM</u>	Quantity	Unit Price	<u>Price</u>								
D205	AA2 (COMMON)	SK	250	\$15.37	\$3,842.50	(T)							
D203	60/40 POZ (COMMON)	SK	50	\$9.82	\$491.00	(T)							
C221	SALT (Fine)	GAL	1173	\$0.25	\$293.25	(T)							
C243	DEFOAMER	LB	59	\$3.45	\$203.55	(T)							
C244	CEMENT FRICTION REDUCER	L.B	71	\$6,00	\$426.00	(T)							
C312	GAS BLOCK	LB	235	\$5.15	\$1,210.25	(T)							
C321	GILSONITE	LB	1246	\$0.60	\$747.60	<b>(T)</b>							
C195	FLA-322	LB	71	\$7.50	\$532.50	<b>(T</b> )							
C304	SUPER FLUSH II	GAL	1000	\$1.53	\$1,530.00	(T)							
F274	WEATHERFORD CEMENTING SHOE PACKER TYPE, 5 1/2	e" EA	1	\$3,133.00	\$3,133.00	<b>(T)</b>							
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"	EA	l	\$250.00	\$250.00	<b>(T)</b>							
F101	TURBOLIZER, 5 1/2"	EA	10	\$74.20	\$742.00	(T)							
F121	BASKET, 5 1/2"	EA	2	\$237.50	\$475.00	(T)							
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	70	\$4.00	\$280.00								
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	35	\$2.50	\$87.50								
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MI	N TM	487	\$1.60	\$779.20								
E107	CEMENT SERVICE CHARGE	SK	300	\$1.50	\$450.00								
R208	CASING CEMENT PUMPER, 3501-4000' 1ST 4 HRS ON LO	C EA	1	\$1,680.00	\$1,680.00								
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00								
S100	FUEL SURCHARGE		1	\$169.67	\$169.67								

JUN 0 7 2006 KCC WICHITA 

 Sub Total:
 \$17,573.02

 Discount:
 \$3,829.36

Discount Sub Total:

\$13,743.66

Barber County & State Tax Rate: 6.30%

Taxes:

13,743.00

(T) Taxable Item

Total:

\$683.72 \$14,427.38

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182



## TREATMENT REPORT

Custoffer RESOURCES INC					Lease No.						Date						
Lease	ς <sub>υ</sub>	HLER		,	Well #	٦-,	33				2-11-06						
Field Order	<b>歩</b>	Station	PRA.	TT	•	Casing Depth					County	ARSK	2	State			
Type Job	10	VESTR	ine	NEW	WELL	•		Fori	nation				escription	25-1361			
PIF		DATA			NG DATA		FLUID U	SED			TREATMENT RESUME						
Casing Size	Casing Size Shots/Ft					Asid	<u> </u>	s A	42	5%6	To CALLY 7 3% PRICTION REDUCK						
Depth /	,	Depth	From	1	<u></u>	Pre	ady DS	Gan	d	*** A	1-727	07451	5 Min.	% 6 AS BLOX			
Volument.	7	Volume	From	1	īo	Pad	54/4	CILS	naliz	Min			10 Min.	TO STATE OF THE ST			
Max Press	5	Max Press	From	,	Го	Frac		<i>4</i>	2072	Avg			15 Min.				
Wall Connect	i99	Annulus Vo	l. From	7	ō					HHP Used	·		Annulus F	Pressure			
P5254	<del>-</del>	Packer Dep	oth From	1	o	Flush	Yes It.	Zo		Gas Volum	ne		Total Load	j			
Customer Re	pres	entative	ENTR	BUZ	Station ر	Manag	er DAV	150	500	77	Treater	nM	GUN	2			
Service Units		18	228	31457	d			-									
Driver Names	M	When	M ROSL	SLAUN	nse												
Time		Casing ressure	Tubing Pressure		umped	R	ate				Se	rvice Log					
0515					·			01		Loca							
1300								CH.	5/1	u che	w 7	a Kin	/ 87	TWES 1500			
***************************************								15	5 2	dsi	ve						
								SHE	E J	v7 4	513W	WATH	CFALL S	HOE PACKEL			
				<u> </u>								AFFIL					
								TURBOLIZES on 1,3,4,5,7,10,24,25,21									
			7-					BA	Ken	5 8017	OMOF	1,23					
1500			R	ECEI	VED	·		CA	SIN	t ov	8000	on/c	Rous	ze vRIL			
			ال	UN 07	2006			SHO	7 1	Dewn/	Rol	BALL 7	OPER	Parker			
1525			-KC	CW	CHITA			51A	9/0	ROUN	Allor a	1 Rila	OPENS	W 850 5			
1615								5/10	7 1	our	/ Hoof	1097	SISM	PTRICK			
1616				4		<u> </u>				gerso'							
1617				24	/	_5			_	LUSH	71			-			
1622	ļ			عر ا		<u>ڪ</u>	,			seel	7,						
1630				7/5	<b>/</b>	<u>ڪ_</u>		-		55/4		MH					
1635				6		_5	,		( =	13.5CA	versil	MIK	2505	SAAR BY			
1648				60	<u> </u>	<u>5</u>		SH	17	Dan	1/ci	ER YU	med L	M/RUS			
1652	,						<u>, , , , , , , , , , , , , , , , , , , </u>		PLA	KME	M						
1705		7. \		6		5		45	79	KLS SO	NE_						
1210	11	700		90.	_ ک	<u>S</u>	<u> </u>	120	16-1	<u>DOW</u>	w / 1	MELO.	<del>/ -</del>				
										KLU	14 110	V 73HK	V D	8			
1024	A NI	E Hisso	v 61 o F	O Bo	x 8613 •	Drot	+ KC C-	124	<i>7,</i>	441VK	40	JMA	(620) 6	70 5000			